QUESTIONS ON RESOLVING POWER FROM PAST PAPERS

1 (a) Describe what is meant by an Airy disc and explain its significance in determining the resolving

power of a telescope.

You may be awarded marks for the quality of written communication in your answer.
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(3 marks)
2  The UKIRT is a Cassegrain telescope capable of detecting both infrared and visible radiation. It has an objective diameter of 3.8 m.

(i) Calculate the resolving power of this telescope for infrared light of wavelength 2.0 μm.
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(ii) Explain why the resolving power of this telescope is better in the visible region than in the infrared region.
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